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QUESTION 1

True or false: auto checking for invalid values can be done on the Type tab in any Source node.
A. True

B. False

Correct Answer: A

QUESTION 2

Which node can be used to easily generate a field that divides the data into subsamples for the Training and Testing
stages of modeling?

A. Sample
B. Filler

C. Balance
D. Partition

Correct Answer: D

QUESTION 3

True or false: given the information in the Data Audit Quality table below,

eme sew ogeeme (G[S[AM= W
Aut Cuslty Amnoatons.
Complete fields (%): Complete records (%)

| Fleld | Measurement | Oufiers Exre.. | Aclion  ImputeMissing | Method % Complete \ ValidRecord
> logwire & Continuous 1 OMone  MNever Fixed 296 '

logequi .§9 Continuous 1 0 Mone Mever Fixed 38.6

logtoll & Continuous 2 ONone  Never Fixed 475 :

logcard Continuous 2 0None  Never Fixed 678 |

region Nominal | —~ e Never Fixed 100 1

tenure & Continuo : 100 1
<} age g Continuo G’EI‘IEMI‘E Filter fr{:lrn Quﬂllt}r — 100 1
<2 marital @ Flag. Mode: @ include: © Exclude 100 1
> address ¢ Confinu : : 100 1
8 income ﬁ Continuoud | © Selected fields 100 1

ed Ordinal 100

=]
| © Fields witn qualty percentage higherthan % | 700/ |

o) (concat) selp J
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the generated Filter node will exclude only the fields logwire, logequi, logtoll, and logcard.
A. True
B. False

Correct Answer: A

QUESTION 4

A prison system has historical data on prison inmates and wants to find what factors are related to recidivism (return to
prison). What type of model would be used?

A. Segmentation model
B. Classification model
C. Association model
D. Anomaly model

Correct Answer: B

QUESTION 5

Examine the Data Audit output shown below.

Data Audit of [14 fields]

|e File 5 Edit {) Generate

Augi] | Quaity | &
Complete fields (%) |85.71% Complete records (%) |96.57%

_ Field /| Measurement Outfiers Extremes| Action | ImputeMi.| Method | % Complete | Vali
[A] ACCOM @5 Mominal — —— Mever Fixed _ 100
[A] COUNTRY @b Mominal — —— Mever Fixed _ 100
[A] CUSTID @. Nominal = = Mever Fixed | 100
[A] DIST_TO_BE.. f Continuous 1 0 Mone Mever Fixed _ 100
@ ooB ﬁ;. Mominal - - Mever Fixed _ 100
{_» GENDER &> Nominal - —— Never Fixed 98.681
{# HOLCODE @b Nominal = —|— Never Fixed 100
[[3 HOLCOST _ ] Continuous . g 1 Discard Mever Fixed g7 839
El MNAME E} Maominal - - Mever Fixed . 100
[A] NIGHTS f Continuous 0 O Mullify Mever Fixed | 100
[A] NUMPARTY g Continuous B 0 Mone Mever Fixed | 100
[a] POOL | @ Flag - —|— Mever Fixed | 100
[A] REGION @> Nominal = —|— Mever Fixed | 100
{? TRAVDATE @b Nominal = el Never Fixed 100

U — ]
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What action will occur in a generated Outlier and Extreme Supernode for HOLCOST?
A. Nine records will be set to the system missing (null) value for HOLCOST.

B. Ten records will be deleted.

C. Ten records will be set to the system missing (null) value for HOLCOST.

D. Nine records will be deleted.

Correct Answer: B
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